

$$Ans1 = \begin{bmatrix} ans.2 = (AB = \langle 5, -4 \rangle) \\ ans.3 = (AB = 5i - 4j) \\ ans.4 = (|AB| = (\sqrt{41}, 6.403)) \\ ans.5 = (u = 0.781i - 0.625j) \\ ans.6 = (c = 4.685i - 3.748j) \\ ans.7 = (d = -7.028i + 5.622j) \end{bmatrix}, Ans2 = \begin{bmatrix} ans.2 = (AB = \langle 10, -6 \rangle) \\ ans.3 = (AB = 10i - 6j) \\ ans.4 = (|AB| = (2\sqrt{34}, 11.662)) \\ ans.5 = (u = 0.857i - 0.514j) \\ ans.6 = (c = 6.002i - 3.601j) \\ ans.7 = (d = -5.145i + 3.087j) \end{bmatrix}$$

$$Ans3 = \begin{bmatrix} ans.1 = (AB = \langle -4, 5, -4 \rangle) \\ ans.2 = (AB = -4i + 5j - 4k) \\ ans.3 = (|AB| = (\sqrt{57}, 7.550)) \\ ans.4 = (u = -0.530i + 0.662j - 0.530k) \\ ans.5 = (c = -4.239i + 5.298j - 4.239k) \\ ans.6 = (d = 3.709i - 4.636j + 3.709k) \end{bmatrix}, Ans4 = \begin{bmatrix} ans.1 = (AB = \langle -9, 7, -8 \rangle) \\ ans.2 = (AB = -9i + 7j - 8k) \\ ans.3 = (|AB| = (\sqrt{194}, 13.928)) \\ ans.4 = (u = -0.646i + 0.503j - 0.574k) \\ ans.5 = (c = -5.815i + 4.523j - 5.169k) \\ ans.6 = (d = 3.877i - 3.015j + 3.446k) \end{bmatrix}$$

Ans5 = $\langle 12, -44 \rangle$, , Ans6 = $\langle 10, 2 \rangle$, , Ans7 = $\langle 4, 0, -3 \rangle$, , Ans8 = $\langle -28, -4, 15 \rangle$

$$Ans9 = \begin{bmatrix} ans.1 = [|a| = [\sqrt{106}, 10.296]] \\ ans.2 = [b = \langle 45, 25 \rangle] \\ ans.3 = [|b| = [5\sqrt{106}, 51.478]] \\ ans.4 = [c = \langle -63, -35 \rangle] \\ ans.5 = [|c| = [7\sqrt{106}, 72.069]] \end{bmatrix}, Ans10 = \begin{bmatrix} a + b = \langle -6, 18 \rangle \\ |a| = [\sqrt{61}, 7.810] \\ |b| = [\sqrt{313}, 17.692] \\ |a + b| = [6\sqrt{10}, 18.974] \end{bmatrix}, Ans11 = \begin{bmatrix} a - b = \langle 18, -8 \rangle \\ |a| = [\sqrt{61}, 7.810] \\ |b| = [\sqrt{313}, 17.692] \\ |a - b| = [2\sqrt{97}, 19.698] \end{bmatrix}, \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ MUT \end{bmatrix}$$

$$Ans12 = \begin{bmatrix} a + b = \langle 3, -6, 19 \rangle \\ |a| = [\sqrt{354}, 18.815] \\ |b| = [\sqrt{86}, 9.274] \\ |a + b| = [\sqrt{406}, 20.149] \end{bmatrix}, Ans13 = \begin{bmatrix} a - b = \langle 13, -16, 7 \rangle \\ |a| = [\sqrt{354}, 18.815] \\ |b| = [\sqrt{86}, 9.274] \\ |a - b| = [\sqrt{474}, 21.772] \end{bmatrix}$$

$$Ans14 = \begin{bmatrix} ans.2 = (|a| = [\sqrt{130}, 11.402]) \\ ans.3 = (\theta = 52.125 \text{ degrees}) \end{bmatrix}, Ans15 = \begin{bmatrix} ans.2 = (|a| = [\sqrt{113}, 10.630]) \\ ans.3 = (\theta = 318.814 \text{ degrees}) \end{bmatrix}$$

$$Ans1 = \begin{bmatrix} ans.2 = (AB = \langle 4, 7 \rangle) \\ ans.3 = (AB = 4i + 7j) \\ ans.4 = (|AB| = (\sqrt{65}, 8.062)) \\ ans.5 = (u = 0.496i + 0.868j) \\ ans.6 = (c = 3.473i + 6.078j) \\ ans.7 = (d = -2.481i - 4.341j) \end{bmatrix}, Ans2 = \begin{bmatrix} ans.2 = (AB = \langle -12, -4 \rangle) \\ ans.3 = (AB = -12i - 4j) \\ ans.4 = (|AB| = (4\sqrt{10}, 12.649)) \\ ans.5 = (u = -0.949i - 0.316j) \\ ans.6 = (c = -8.538i - 2.846j) \\ ans.7 = (d = 6.641i + 2.214j) \end{bmatrix}$$

$$Ans3 = \begin{bmatrix} ans.1 = (AB = \langle -8, 4, 3 \rangle) \\ ans.2 = (AB = -8i + 4j + 3k) \\ ans.3 = (|AB| = (\sqrt{89}, 9.434)) \\ ans.4 = (u = -0.848i + 0.424j + 0.318k) \\ ans.5 = (c = -6.784i + 3.392j + 2.544k) \\ ans.6 = (d = 5.088i - 2.544j - 1.908k) \end{bmatrix}, Ans4 = \begin{bmatrix} ans.1 = (AB = \langle 5, 8, 12 \rangle) \\ ans.2 = (AB = 5i + 8j + 12k) \\ ans.3 = (|AB| = (\sqrt{233}, 15.264)) \\ ans.4 = (u = 0.328i + 0.524j + 0.786k) \\ ans.5 = (c = 1.638i + 2.620j + 3.931k) \\ ans.6 = (d = -2.293i - 3.669j - 5.503k) \end{bmatrix}$$

$$Ans5 = \langle -15, -16 \rangle, Ans6 = \langle 8, 18 \rangle, Ans7 = \langle 8, 14, -6 \rangle, Ans8 = \langle 17, 25, -1 \rangle$$

$$Ans9 = \begin{bmatrix} ans.1 = [|a| = [10, 10.000]] \\ ans.2 = [b = \langle 42, -56 \rangle] \\ ans.4 = [c = \langle -18, 24 \rangle] \\ [c = [30, 30.000]] \end{bmatrix}, Ans10 = \begin{bmatrix} a + b = \langle -3, 18 \rangle \\ |a| = [5\sqrt{5}, 11.180] \\ |b| = [\sqrt{218}, 14.765] \\ |a + b| = [3\sqrt{37}, 18.248] \end{bmatrix}, Ans11 = \begin{bmatrix} a - b = \langle -17, -8 \rangle \\ |a| = [5\sqrt{5}, 11.180] \\ |b| = [\sqrt{218}, 14.765] \\ |a - b| = [\sqrt{353}, 18.788] \end{bmatrix}, \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ MUT \end{bmatrix}$$

$$Ans12 = \begin{bmatrix} a + b = \langle 12, -17, 6 \rangle \\ |a| = [3\sqrt{11}, 9.950] \\ |b| = [3\sqrt{30}, 16.432] \\ |a + b| = [\sqrt{469}, 21.656] \end{bmatrix}, Ans13 = \begin{bmatrix} a - b = \langle -2, 3, -16 \rangle \\ |a| = [3\sqrt{11}, 9.950] \\ |b| = [3\sqrt{30}, 16.432] \\ |a - b| = [\sqrt{269}, 16.401] \end{bmatrix}$$

$$Ans14 = \begin{bmatrix} ans.2 = (|a| = [\sqrt{106}, 10.296]) \\ ans.3 = (\theta = 60.945 \text{ degrees}) \end{bmatrix}, Ans15 = \begin{bmatrix} ans.2 = (|a| = [\sqrt{130}, 11.402]) \\ ans.3 = (\theta = 217.875 \text{ degrees}) \end{bmatrix}$$

:
:
:

